;H‘ﬁ-k s ! GUUTI S S B nw) [, S — I e i o e NUSEDUNIEY ISR, S—" ' 1
_ L | 3 | a ) | 8 | v

imm@_ L vt :E_Ew ..__..._ ]

"Japlo 9as uonisod o4 (|

19591 —CXV e avov buimoip Ajgwassy o

"0£G0TS "ON Suopdnssu; joseusb o} |99ym 4ong .
| a1ypo ‘pajois s ss Burpou 1M [ 07| | 00919 9onjs Kipjoy @1/m ‘sod up umoys I | |
: T i

Aunsuejunod / passoquia “agunu waped @ | xoly DR S R R R TR 2 I S S
} M 16
®[@E3-051] 3-08 sppm | paroaddy | payoaun | peubisag | (1:] V i I _
7 “9__ \Juz -ubis | aoq [ -ubis | s30q [-ubis [ sog] :eroos

T Ay
£ Ay

G R R 1 T O S m+++++¥+k+m
e s 4 4 4 o aa pogly goe g

T

e — L
[4 g Sz
e 00
I

T —Srto
10G6:Po* 080N 514

(v) ggpuo Ny 504 (1) aTpus AT S0d

90°10°¢0'L L

7S
777777 22 22

G0'10°¢O'L1

m!
m <

:uondudsaq / :auoz ui uoisiAdy Jd4d AR .«K\‘A foutbuo \*\ _MHm.
= | A%y |




wi|  BOEYES L ow

:hﬁ—n—-ﬂ

¢0°LL %d

dousiop [05u29 )
oads asmIago ssaun

HNSIGUN0D / passoquie equinu WaRod )

Alquassp 82in|

00919 2anjs Kooy

® W X0
@w. 3-08! _ 3-08I spam | wddy | pay) | umoig oLl
10,
B / o | vbis | ubs | ubis iy :2j035
uonduosaq / auoz u voisway | 1od | od1 | g9 101091 foubLQ
oSy

WN G's "xow ‘uajybipsao jou og @

*asay buu apmnb Aug @

uiod 3sD319 @

CTHOZOLL Ypm sabpa jo pajpas 9q of @

s

. !

ZT107C0LL
G0C0COTT
01C00T1 =
0200 TE

T070T1 H+++++++++M

TIZ0C0TT
12202011
00Tl :

— C (LIS,

C17T0C0TH
B80COCOTL

——

2
Im
7
7
7|
%,

O

61710C0° 11

0CT020T!

12702011
El

of

(z:1)

91°20C0°LL

0¢'c0C0'}l

¢leoe

¥120¢0°LL

ZU0eoLL

9020201

11102071
01'107Z0°1
60107201

WS Xop

SL'10C0' L L

91°10C0'1 1

¢€L10cotl

¥0'100°}1
€0°10°¢0'L L

¥0°20C0°L L

(N (Sl

Z0'1020° 1L
108072011
LUL0CO b
01'1020" L]
601020 L1
80'10Z0 L1

90'%0°¢O'L L

l
l
l

() sovoToin

£0v020' L1

10°¢0C0" L

£0c0co’t
¢0c0C0LL

L0Y0TO 1L
= N\ 1090207} L
3 o
3
13
s = e
5 . L < 20%020°LL
S ——
R s . 10°€0C0 L
/
¢ (244
oz _T 1050207 L1
d-4 v



l6 I8 §vv

b BLEET i

. I HZLBSL-ZXY B Ovv.

HIGIRS 13 B

Buimesp” Aquassy

‘0ES0ZS ON: SUGH3NYSL 12U3U3b o)
* 3Jaype ‘pajes S asp Buwiou auaym

133ym jaxong

2ams  Aiejoy

> .v_Sw_mERH / P3SSOGUR "J3qUNU us3lied @

T X0}

- QO 3-0si] 308 sppm

panosddy | paxyday) | paubisag | QL

e / BN

ubiS | 3ieQ | ubis | 3ieq [ ubiS |-aleq | :3je3s

uE:D...ummn. / 7BUCZ W UGISIASY

Qg |ns OV [nbla  gewzd rubin

L A3y

z oy

£ Ay

7

eover

. N
: S
W27, 2777220 2 ki

ool




L=¢¥68100! INIMYHQ

S R e

e

2

F(+
4+




~ 1781

11kN

LL1=
DL1

1305

1400

1467

Zons/Descr: PA24

(3) Feed direct
@ Flange.
@ Inspection door.

s
BB~
2
| @
uo

§

§

S
® (=

¥
Lk

o
oad Drawin:
H!Smm'ru

2.0

[*10018943 [

100

t
4x300
1600
1700

|

<\8
R
o &

L

|
|
1600

|
'
'
|
il
I
15 |




ESmlnTH MAT 1100

MCGB - DATA SHEET FOR SUPPLIERS Old MAT Nos.: 110, 130, 100

Structural Steel, Carbon Steel, Killed .

For more information contact F.L. Smidth

PROPERTIES:

Carbon steel in hot rolled and normalised or similar condition: shape, plate, tube, bar and forging of structural
quality in the killed condition.

STANDARDS:

General requirements:

When reference to this MAT NO appears on FLS Drawing or FLS Parts List or in FLS Purchace Order the data from the
Primary Standard is used as acceptance criteria.

Specific deviations in requirements made in the FLS Parts List, the FLS Purchace Order or a FLS Instruction always
overrules this data sheet.

Alternatively accepted International Standards listed in this sheet may be used if the suppliers documentation covers at
least the documentation required in the Primary Listed Standard. This means that supplementary tests in some cases
will be necessary.

Primary Standard:

EN 10025 (1993) , MATERIAL: S 235 JRG 2 FN, MATERIAL No.: 1.0038
Hot rolled products of non-alloyed structural steels - technical delivery conditions

CHEMICAL COMPOSITION:
Dim, mm % C max % Simax | % Mn max or| % P max % S max % N max % Al min
or range orrange range or range or range or range or range
0-16 0.17 - 1.4 0.045 0.045 0.009 -
16-40 0.17 - 1.4 0.045 0.045 0.009 -
40- 0.20 - 1.4 0.045 0.045 0.009 -

MECHANICAL PROPERTIES AT ROOM TEMPERATURE:

Condi- [Dim, mm Tensile Strength Yield Strength| Elong. Area M.Elas Hardness Imp. Energy
tion MPa MPa % Reduction | GPa KV, min
Rm Re A5 z 2, E HRc HB HV °C J
0-3 360 - 510 235 - 21 - - - 206 - - - 20 27
3-16 340 - 470 235 - 26 - - - 206 - - - 20 27
16 - 40 340 - 470 225 - 26 - - - 206 - - - 20 27
40 - 63 340 - 470 215 - 25 - - - 206 - - - 20 27
63 - 100 340 - 470 215 - 24 - - - 206 - - - 20 27
100 - 150 340 - 470 195 - 22 - - - 206 - - - 20 27
150 - 200 320 - 470 185 - 21 - - - 206 - - - 20 23
200 - 250 320 - 470 175 - 21 - - - 206 - - - 20 23
Rev_No: 0,9 Issue_Date: 01-06-1998 Prepared by: AsK

Rev_Date: 15-01-2004 Approved by: ESJ Page 1 of 3




MAT 1130

ESITIIDTH

MCGB - DATA SHEET FOR SUPPLIERS Old MAT Nos.: 132, -, -

Structural Steel, Carbon Steel, Killed .

For more information contact F.L. Smidth

PROPERTIES:

Carbon steel hot rolled shapes, plates, tubes, bars and forgings of structural quality in the killed condition.
STANDARDS:

General requirements:

When reference to this MAT NO appears on FLS Drawing or FLS Parts List or in FLS Purchace Order the data from the

Primary Standard is used as acceptance criteria.

Specific deviations in requirements made in the FLS Parts List, the FLS Purchace Order or a FLS Instruction always
overrules this data sheet.

Alternatively accepted International Standards listed in this sheet may be used if the suppliers documentation covers at
least the documentation required in the Primary Listed Standard. This means that supplementary tests in some cases
will be necessary.

Primary Standard:

EN 10025 (1993) , MATERIAL: E 295 FN, MATERIAL No.: 1.0050
Hot rolled products of non-alloyed structural steels - technical delivery conditions

CHEMICAL COMPOSITION:

Dim, mm % C max % Si max % Mn max or| % P max % S max % N max % Al min
or range or range range orrange or range or range or range
- - - 0.045 0.045 0.009 -
MECHANICAL PROPERTIES AT ROOM TEMPERATURE:
Condi- |Dim, mm Tensile Strength Yield Strength| Elong. Area M.Elas Hardness Imp. Energy
tion MPa MPa % Reduction | GPa KV, min
Rm Re A5 z 2T E HRc HB HV °C J
3-16 470 - 610 295 - 20 - - - 210 - - -
16-40 470 - 610 285 - 20 - - - 210 - - -
40-63 470 - 610 275 - 19 - - - 210 - - -
63-80 470 - 610 265 - 18 - - - 210 - - -
80-100 470 - 610 255 - 18 - - - 210 - - -
100-150 450 - 610 245 - 16 - - - 210 - - -
150-200 440 - 610 235 - 15 - - - 210 - - -
200-250 440 - 610 225 - 15 - - - 210 - - -
Rev_No: 0,8 Issue_Date: 01-06-1998 Prepared by: AsK
Rev_Date: 15-01-2004 Approved by: ESJ Page 1 of 3




ESI“IDTH MAT 1140

MCGB - DATA SHEET FOR SUPPLIERS Old MAT Nos.: 115, 133, -

Structural Steel, Carbon Steel, Killed

For more information contact F.L. Smidth

PROPERTIES:
Carbon steel hot rolled shapes, plates, tubes, bars and forgings.

Although this material does not belong to the category "Heat treatable steels" it can be hardened by quenching
and tempering.

Uniform hardness across the entire cross section can only be obtained for small dimensions up to approx. 40
mm.

STANDARDS:
General requirements:

When reference to this MAT NO appears on FLS Drawing or FLS Parts List or in FLS Purchace Order the data from the
Primary Standard is used as acceptance criteria.

Specific deviations in requirements made in the FLS Parts List, the FLS Purchace Order or a FLS Instruction always
overrules this data sheet.

Alternatively accepted International Standards listed in this sheet may be used if the suppliers documentation covers at
least the documentation required in the Primary Listed Standard. This means that supplementary tests in some cases
will be necessary.

Primary Standard:

EN 10025 (1993) , MATERIAL: E 335 FN, MATERIAL No.: 1.0060
Hot rolled products of non-alloyed structural steels - technical delivery conditions

CHEMICAL COMPOSITION:
Dim, mm | % C max % Simax | % Mn maxor( % P max % S max % N max % Al min
or range or range range or range or range or range or range
- - 0.045 0.045 0.009 -
expected Carbon level > 0,4 %
MECHANICAL PROPERTIES AT ROOM TEMPERATURE:
Condi- [Dim, mm Tensile Strengthl Yield Strength| Elong. Area M.Elas Hardness Imp. Energy
tion MPa MPa % Reduction | GPa KV, min
Rm Re A5 V4 ra E HRc HB HV b o J

N 0-1 590 - 770 335 - 8 - - - - - -
N 1-1.5 590 - 770 335 - 9 - - - - - -
N 1.5-2 590 - 770 335 - 10 - - - - - -
N 2-2.5 590 - 770 335 - 11 - - - - - -
N 2.5-3 590 - 770 335 - 12 - - - - - -
N 3-10 570 -710 335 - 16 - - - - - -
N 10-16 570 -710 335 - 16 - - - - 175-210 -
N 16-40 570 -710 325 - 16 - - - - - -
N 40-63 570 - 710 315 - 15 - - - - - -
N 63-80 570 - 710 305 - 14 - - - - - -
N 80-100 570 -710 295 - 14 - - - - = -
N 100-150 550 - 710 275 - 12 - - - - - -
N 150-200 540 - 710 265 - 11 - - - - - -
N 200-250 540 - 710 255 - 11 - - - - - -

Hardness in the hot rolled and normalized condition: HB =175 - 210.
Hardness in HEAT TREATED CONDITION, depending on tempering temperature: HB = 350 - 550.

Rev.No: 0,6 Issue_Date:  01-06-1998 Prepared by:  AsK
Rev_Date: 31-01-2002 Approved by: ESJ Page 1 of 3




Es“"m." MAT 2001

MCGB - DATA SHEET FOR SUPPLIERS Old MAT Nos.: 140, -, -

Bright Steel, Unalloyed, Cold Drawn

For more information contact F.L. Smidth

PROPERTIES:
Bright steel hot rolled bars, which have been FINISHED BY COLD DRAWING.

STANDARDS:
General requirements:

When reference to this MAT NO appears on FLS Drawing or FLS Parts List or in FLS Purchace Order the data from the
Primary Standard is used as acceptance criteria.

Specific deviations in requirements made in the FLS Parts List, the FLS Purchace Order or a FLS Instruction always
overrules this data sheet.

Alternatively accepted International Standards listed in this sheet may be used if the suppliers documentation covers at
least the documentation required in the Primary Listed Standard. This means that supplementary tests in some cases
will be necessary.

Primary Standard:

EN 10277-1/2 (1999) , MATERIAL: S 235JRG2 +C, MATERIAL No.: 1.0122
Bright steel products. General description - Technical delivery conditions

CHEMICAL COMPOSITION:
Dim, mm % C max % Si max % Mn max or| % P max % S max % N max % Al min
or range or range range orrange or range or range or range
0.17 » 1.4 0.045 0.045 0.009 -

* Method of deoxidation is optinal

MECHANICAL PROPERTIES AT ROOM TEMPERATURE:

Condi- |Dim, mm Tensile Strength Yield Strength| Elong. Area M.Elas Hardness Imp. Energy

tion MPa MPa % Reduction | GPa KV, min
Rm Re A5 z 2 E HRc HB HV °C J

C 0-5 470 - 840 355 - 8 - - - - - -

C 5-10 470 - 840 355 - 8 - - - - - -

C 10-16 420 - 710 300 - 9 - - - - - -

C 16-40 390 - 690 260 - 10 - - - - - -

C 40-63 380 - 630 235 - 11 - - - - - -

C 63-100 340 - 600 215 - 11 - - - - - -

C: Cold drawn, not heat treated.

Rev_No: 0,9 Issue_Date:  01-06-1998 Prepared by: ~ AsK
Rev_Date: 15-01-2004 Approved by: ESJ Page 1 of 3




ESmmTH MAT 2011

MCGB - DATA SHEET FOR SUPPLIERS Old MAT Nos.: 142, -, -

Bright Steel, Unalloyed, Cold Drawn

For more information contact F.L. Smidth

PROPERTIES:

Bright steel hot rolled bars, which have been finished by COLD DRAWING.

Required dimensional tolerance: ISO h 9 (DIN 669 and 671, or Purchase Parts Table Handbook 5600).
Hexagonal steel finished by COLD DRAWING.

Dimensional tolerance: ISO h 11 (DIN 176 or Purchase Parts Table Handbook B page 5640).

NOTICE THAT THIS IS THE COLD DRAWN QUALITY OF THE OLD MAT 142.
THE CORRESPONDING MACHINED QUALITY WITH SAME CHEMICAL COMPOSITION BUT WITH
MECHANICAL PROPERTIES HAS MAT No. 2012.

STANDARDS:
General requirements:

When reference to this MAT NO appears on FLS Drawing or FLS Parts List or in FLS Purchace Order the data from the
Primary Standard is used as acceptance criteria.

Specific deviations in requirements made in the FLS Parts List, the FLS Purchace Order or a FLS Instruction always
overrules this data sheet.

Alternatively accepted International Standards listed in this sheet may be used if the suppliers documentation covers at
least the documentation required in the Primary Listed Standard. This means that supplementary tests in some cases
will be necessary.

Primary Standard:
EN 10277-1/2 (1999) , MATERIAL: C50 , MATERIAL No.: 1.0540
Bright steel products. General description - Technical delivery conditions

CHEMICAL COMPOSITION:
Dim, mm % C max % Simax |% Mn max or| % P max % S max % N max % Al min
or range or range range or range or range or range or range
0.47-0.52 0.40 0.6-0.9 0.045 0.045 - -

%Cr+%Mo+%Ni = 0.63

Dim, mm | % Cr max|% Mo max| % Nimax | % V max |% Nb max| % Timax [ % Cu max | % Other max
orrange | orrange | orrange | orrange | orrange| orrange | orrange or range
0.4 0.1 0.4

MECHANICAL PROPERTIES AT ROOM TEMPERATURE:

Condi- [Dim, mm Tensile Strength Yield Strength| Elong. Area M.Elas Hardness Imp. Energy
tion MPa MPa % Reduction | GPa KV, min
Rm Re A5 Z 2, E HRc HB HV °Cc J
cC 0-5 770 - 1100 590 - 5- - - - - -
Cc 5-10 770-1100 590 - 5- - - - - -
C 10-16 730 - 1080 520 - 6 - - - - - -
& 16-40 690 - 1050 440 - 7- - - - - -
(& 40-63 650 - 1030 390 - 8 - - - - - -
Cc 63-100 - - - - - - - -

C: Cold Drawn. Not heat treated.

Rev_No: 0,9 Issue_Date:  01-06-1998 Prepared by: ~ AsK
Rev_Date: 15-01-2004 Approved by: ESJ Page 1 of 3




ESITIIDTH

MCGB - DATA SHEET FOR SUPPLIERS

MAT 2820

Old MAT Nos.: 405, -, -

Gunmetal

For more information contact F.L. Smidth

PROPERTIES:
Cu, Sn, Zn and Pb alloy for sand casting.

STANDARDS:

General r

equirements:

When reference to this MAT NO appears on FLS Drawing or FLS Parts List or in FLS Purchace Order the data from the
Primary Standard is used as acceptance criteria.

Specific deviations in requirements made in the FLS Parts List, the FLS Purchace Order or a FLS Instruction always
overrules this data sheet.

Alternatively accepted International Standards listed in this sheet may be used if the suppliers documentation covers at
least the documentation required in the Primary Listed Standard. This means that supplementary tests in some cases
will be necessary.

Primary Standard:

EN 1982 (1998) , MATERIAL: CuSn5Zn5Pb5-B, MATERIAL No.: CB 491K
Copper and copper alloys - Ingots and Castings

CHEMICAL COMPOSITION:

Dim, mm % C max % Simax (% Mn max or| % P max % S max % N max % Al min
or range or range range orrange or range or range or range
- 0.01 - 0.03 0.08 - 0.01
Dim, mm | % Cr max | % Mo max| % Nimax | % V max |% Nb max| % Ti max | % Cu max | % Other max
or range | orrange | orrange | orrange | orrange| orrange | orrange or range
2.0 83.0-86.5 Sn 4.2-6.0
Zn 4.5-6.5 wt%; Pb 4.2-5.8 wt%; Fe 0.25 %max; Sb 0.25 %max.
MECHANICAL PROPERTIES AT ROOM TEMPERATURE:
Condi- [Dim, mn| Tensile Strength Yield Strength| Elong. Area M.Elas Hardness Imp. Energy
tion MPa MPa % Reduction | GPa KV, min
Rm Re A5 z Z) E HRc HB HV °C J
and cast; G 200 - 90 - 13 - - - - 60 - -
Rev No: 0,70 Issue_Date:  01-09-1978 Prepared by: ~ AsK
Rev_Date: 15-01-2004 Approved by:  ESJ Page 1 of 3




ESmIDTH MAT 3110

MCGB - DATA SHEET FOR SUPPLIERS Old MAT Nos.: 117, -, -

Abrasion Resistant Steel (Hardox 500)

For more information contact F.L. Smidth

PROPERTIES:

Quenched and tempered wear resistant steel. The special hardening causes a good abrasion resistance in
combination with impact and/or good bending properties. HB = 500.

STANDARDS:

General requirements:

When reference to this MAT NO appears on FLS Drawing or FLS Parts List or in FLS Purchace Order the data from the
Primary Standard is used as acceptance criteria.

Specific deviations in requirements made in the FLS Parts List, the FLS Purchace Order or a FLS Instruction always
overrules this data sheet.

Alternatively accepted International Standards listed in this sheet may be used if the suppliers documentation covers at
least the documentation required in the Primary Listed Standard. This means that supplementary tests in some cases wi
be necessary.

Primary Standard:

Material no None () , MATERIAL: ., MATERIAL No.: .
No International Standard Available

The chemical composition has been taken from the catalog(s):
Company: Swedish Steel

Material: Hardox 500

Title: OO
CHEMICAL COMPOSITION:
Dim, mm % C max % Si max % Mn max or| % P max % S max % N max % Al min
or range or range range orrange or range or range or range
0.3 0.1-0.7 1.7 0.025 0.01 - -

Dim, mm | % Cr max|% Mo max| % Nimax [ % V max [% Nb max| % Ti max | % Cu max | % Other max
orrange | orrange | orrange | orrange | orrange| orrange | orrange or range
0.8 0.8 - - - - -

B: max 0.005%, fine grained steel

MECHANICAL PROPERTIES AT ROOM TEMPERATURE:

Condi- [Dim, mn Tensile Strength Yield Strength| Elong. Area M.Elas Hardness Imp. Energy
tion MPa MPa % Reduction | GPa KV, min
Rm Re A5 z Z, E HRc HB HV °C J
1550 - 1300 - 8 - - - - 450 - 560 - -10 20

Room temperature hardness decreases after long time exposure at temperatures above 250 °C. For more inforn
contact RDL-Metallurgy.

Rev_No: 0,8 Issue_Date: 01-06-1998 Prepared by: AsK
Rev_Date: 19-03-2003 Approved by: ESJ Page 1 of 3




01

02

03

04

05

06

07

08

09

10

151

12

13

14

15

16

i)

18

19

20

21

22

23

Atox mill IF:L% Parts List No. 50004584 Sheet No.
Rotary sluice EE 171..02.01
51600 " —PImGN code Id
Designation No. Req| Drawing Ma:;:itg:_zer(‘:::em) Mat T:z;al
Assembly drawing X) 1.234306|Pos. LU
Assembly drawing 2:165614|Pos. LU
Assembly drawing 2158724
Bucket wheel 1 2158719 110 1768
Shaft for bucket wheel 1| 3:132391 132 309
Shaft for bucket wheel 1} 3.132392 132 263
Sealing plate o] 3.129736 117 120
Screw 66 0343.M16x50 2
Nut 66 0110.M16 il
Washer 66 0701.M16 0
Housing 1] 2.229789 1100 2243
Liner 1| 1.088678 115 882
Screw 2 0223.M24x75 1
Nut 2 0110.M24 0
Side cover 2] 1130905 110 1530
Screw 32 0223 .M30x11.0 32
Nut 32 0110.M30 8
Screw 8 0223.M24x140
Nut 8 0110.M24
x)Line Date Sign.
24-feb-2004 NiSm 7139
0l:Roller bearings to be half filled with grease
during assembly. (FLS BG-U)
Rev.|Line. Week. Sign.




01

02

03

04

05

06

07

08

09

10

Al

1:2

13

14

15

16

g

18

19

20

21

22

23

Atox mill

IF@ Parts List No. 50004584 Sheet No.
Rotary sluice EE 131.. 0202
51600 % —C\MGN code/ 1d

Designation No. Req| Drawing Mar?:’:itgl:rer(‘:lai’::arn) Mat T;;al
Torque support 1] 3.134413 X) 1.2
Screw 2 0223.M30x80 1
Nut 2 0110.M30 0
Nut 2 M150x2 SKF KM 30 4
Bearing house 2| 2.164289 110 260
Lock washer 2 M150x2 SKF MB 30 0
Bearing cover 4] 2.164290 110 40
Screw 16 0303.M16x25 5
Adapter sleeve 2 SKFE H 3130 10
Spherical roller bearing 2 x) 14
Felt strip 2 X) 0
Guide ring 2] 4.100527 110 4
Stop plate 1| 4.100531 110 8
Bushing 1| 4.100529 132 3
Key 1| 7.000030].32x250 0
Grup screw 2 0515.M10x16 0
Bushing 1) 4.100528 RO 8
Spanner i SKE 718909 1
Screw plug 1f 7.000172|.3/8 DIN 910 142 0
Screw 2 0223.M8x30
Lubricating nipple 2| 7.000110/.1/8
X)Line Date Sign.
0l: See drawing. 24-feb-2004 NiSm 370
10: 22230 CCK/W33 SKF or 22230 EAS.M FAG.
11: FS 680 SKF or FAG.

Rev.|Line. Week. Sign.




01

02

03

04

05

07

08

09

10

bl

12

13

14

15

1.6

18

19

20

21

2.2

23

Atox mill

; E Parts List No. 50004584 Sheet No.
Rotary sluice EE 1.1+ 02503
[m] [m}

#1600 MGN Code/ Id

: : . Code Dimension Total

Designation No. Dr

g Rog RN Manufacturer (Pattern) Wt Kg
Assembly drawing 2.13821831
Inspection door 1] 2.132821 x) 29
Handle 2] 7.000170].16x3 130 1
Hinge 3] 4.084698 110 0
Clevis pin 3] 7.000078].10x38 140 0
Split pin 6 0840.3,2x20 0
Serrated nut 3| 7.000115].63 405 i
Screw 3 0223.M12x60 0
Clamping bow 3] 7.000404].10 110 e
x)Line Date Sign.
03: See drawing 24-feb-2004 NiSm 32

Rev.|Line. Week Sign.




01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

a7

18

19

20

21

22

23

Atox mill [ﬁLI% Parts List No. 50004584 Sheet No.
Rotary sluice EE 11.02.04
51600 P —%/MGN Code/ 1d
Designation No. Req| Drawing Ma:uigitg:':]rer(‘slact)tnern) Mat T;tgal

Rubber seal 6] 2.158728 %) 120
Bracket 12] 3.129722 110 78
Retainer iron 162| 4.087092 110 1.2
Bracket 6] 3.129764 110 36
Screw 162 x) 7
Retainer Iron 241 4.092991 110 24
Retainer Iron 12) B8:129739 110 108
Screw 90 0223.M16x80
Nut 90 0113.M16
%) Line Date Sign.
01: See drawing. 24-feb-2004 NiSm 385
05: Taptite M6 SF-TT M6x20

Rev.|Line. Week. sign.




01

02

03

04

06

07

08

09

10

12,

12

13

14

15

16

1.7

18

19

20

21,

22

23

Atox mill IFIL'@ Parts List No. 50004584 Sheet No.
Rotary sluice 1600 EE 11.02.05
Baffle plate . % MGN Code/ Id
Designation No. Req| Drawing Ma:;:(ztgiz:-er(‘::::em) Mat T;:'

Assembly drawing 1,: 098130
Plate 1| 2.148369 110 51
Rubber plate 1] 3.119428 x) 4
Screw 22 0110.M8x40 1
Nut 22 0110.M8 0
Washer 22 0701.M8 0
Bolt 21 B.119429 132 1
Washer 2] 4.087093 110 0
Screw 2 0220.M6x16 0
Girelip 2 U20x1.20 DIN471 0
Support washer 2 S5520x28x2 0
Arm f. tension spring 21 3.119404 110 1
Shaft f. tension spring 2] 4.087095 110 2
Tension spring 21 7.000137].40x4x212x36 i
Stop block 2] 4.087094 110 0
x)Line Date Sign.

24-feb-2004 NiSm 61
4: See drawing.

Rev.|Line. Week. Sign.




01

02

03

04

05

06

07

08

09

10

it

1.2

13

14

16

1.7

18

19

20

21

22

23

Atox mill F E Parts List No. 50004584 Sheet No.
Rotary sluice EE 11.02.06
m} 0
21600 MGN Code/ Id
s . . Code Dimension Total
Designation No. Req| Drawin Mat
2 q g Manufacturer (Pattern) Kg
Assembly drawing 3.124644
Door 2| 2,052 110 38
Hinge 16] 4.092905 110 4
Clevis pin 41 7.000141|.16x63 132 2
Washer 4] 7.000079|.16 130 0
Split pin 4 0840.4x25 0
Washer 16| 4.029650(.D=32, d=17, t=5 100 2
Washer 16| 4.029650(.D=32, d=17, t=3 100 0
Clevis pin 4] 7.000078|.16x75 132 2
Washer 8] 7.000079].16 130 0
Split pin 8 0840.4x25 0
Eye bolt 4] 7.000122|.M16x80 130 2
Washer 4 0700.M16 0
Nut 4 0100.M16
Packing 2 30x3x1520 X) 4
x)Line Date Sign.
20: Braided glass cord or similar, 24-feb-2004 NiSm 54
heat-resistant at 200 C.
To be glued.
Rev.|Line. Week. Sign.




01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

17

18

20

21

22

28

Atox mill IE E Parts List No. 50004584 Sheet No.
Rotary sluice 21600 EE 11 .02 .07
[w} [w]
MGN Code/ Id
. ; . Code Dimension Total
Designation 0. Req| Drawin
9 “ q 9 Manufacturer (Pattern) bt Kg
Assembly drawing 2:205565
Rotary coupling 1 1115-000-205 Deublin x)
Male stud coupling 1 GE 12-PL/ 3/8 NPT x)
Pipe 1| 4.204033
Male stud coupling 1 GE 12-PL/ R 1/4 X)
Solenoid valve o 131721 Ijgifer x)
Silencer plug 1 PSR 14 %)
Bracket 1] 4.100538 110
Clamp 1 RAFZ2-112 X)
x)Line Date Sign .
24-feb-2004 NiSm

4: Erik Christensen Handels og Ingenigrfirma
6,8,14: Ermeto

10: Granzow A/S Housing 48270.

Coil 481000 220 V AC 50 Hz
11: Granzow A/S
Rev.|Line. Week. Sign.




01

02

03

04

05

06

07

08

09

10

11

1.2

14

1.5

17

18

20

21

22

23

Rotary sluice 21600 F % Parts List No. 50004584 Sheet No.
EE 11.02.08
[m} i)
MGN Code/ Id
. ! Code Dimension Total
Designation No. Req| Drawin Mat
9 9 9 Manufacturer (Pattern) Kg
Assembly drawing 2.205790
Gate 14 3:2085832 1100 40
Hinge 2] 4.204028 1100 1
Screw 92 0223.M12x30 1
Washer 22 0701.M12 0
Screw 2 .216x40 ISO 7379 12,9 0
x)Line Date Sign.
24-feb-2004 NiSm 42
Rev.|Line. Week. Sign




01

02

03

04

05

06

07

08

09

10

1168

12

1.3

14

15

16

1.7

18

1.9

20

211

22

23

Atox mill 37.5

F @ Parts List No. 50004584 Sheet No.
Rotary sluice 1600 EE 11 .02, 09
O O
Protection cover MGN Code/ Id
Code Dimension Total
Designation No. Req| Drawin Ma
9 q pealng Manufacturer (Pattern) ! Kg
Assembly drawing 1.234459
Protection cover 1] 1.234460 1100 35
Protection cover 1| 1.234461 1100 49
Distance piece 24| 4.217287 1100 !
Screw 24 0220.M10x20 1.
x)Line Date Sign.
24-feb-2004 NiSm 86
Rev.|Line. Week. Sign




01

02

03

04

05

06

07

08

09

10

11

12

14

18

16

17

18

1.9

20

2,

22

28

Sluice @ 1600 ‘F E Parts List No. 50004584 Sheet No.
Material inlet EE 11:63.01
; . 0 (n]
Drive for sluice MGN Code/ Id
: . ; Code Dimension Total
Designation No. Req| Drawin
= . 9 Manufacturer (Pattern) ey Kg
Assembly drawing 1.234308
Console for geared motor L] 1.234811|RPos. LU 1100 320
Guard for coupling 1] 2.229827 1100 10
Screw 4 0220.M10x20
Spring washer 4 0720.M10
Cover 1] 2.155899 110 6
Screw 2 0220.M16x20
Spring washer 3 0720.M16
Pulse disc 1| 4.075714 100 1,
Geared motor Z80-G160M4, Flender x)
Gear CAVEX COA 280 %)
Coupling KW 85 Ringspann %)
Bore, motor side 7.000033|.50 H7
Bore, gear side 7.000033(.70 H7
Screw - 0220.M8x20
Nut 4 0100.M8
Proximity switch X)
x)Line Date Sign.
14: i=5.76, P=11 kW, n=253, (50Hz). 24-feb-2004 NiSm 337
Voltage, 3x380 V.
15: CAVEX COA 280, i=35
14,15,16: To be ordered separately.
23: For speed monitor BE-C30.
To be purchased by instrument dept.
Rev.lLine. Week., Sign.




01

02

03

04

05

06

07

08

09

14

15

16

17

18

19

20

21

22

23

Sluice 21600 ’E % Parts List No. 50004584 Sheet No.
Material inlet EE 11+038.02
i ) [m} (u]
Drive for sluice MGN Code/ Id
; s . Code Dimension Total
Designation No. Req| Drawin Mat
g 9 9 Manufacturer (Pattern) Kg

Screw 4 0200.M30x125 1

Spring washer 4 0720.M30 0

Nut 4 0200.M30 0

Screw 2 0200.M12x35 0

Spring washer 2 0720.M12 0

Screw 4 0220.M16x95 1

Nut 4 0100.M16 0

Rubber bush #45/275%90 x) 1

Shim 41 7.000398|.310x75x1x18x260 100 b

Shim 2] 7.000398].310x75x2x18x260 100 1

Shim 21 7.000398].310x75x2x18%260 100 1

Protection guard 1| 3+226691 1100 8.5

Screw 4 0220.M12x30

Nut 4 0100.M12

Bottom cover 1] 3.226692 1100 2

x)Line Date Sign.

12: Megulastik 0118 093 (Carl Freudenberg/Simrit). 24-feb-2004 NiSm 17
Rev. Line. Week. Sign.




